
Work through these tasks at your own pace and level: 

Answers can be found at the end of the booklet. If your answers don’t match – try the problem again 

and see if you can work out how to get to the correct answer. 
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1) These fractions have been 
ordered from the smallest to 
the largest. What could the 
missing fraction be? 
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Jeff is correct, because Bob ate 
1/5 of cake which can be 
turned into 9/45. If there was 
only 1/9 which is the same as 
5/45 it means that Timmy ate 
31/45 of cake. Half of 45 
would be 22.5 so Timmy 
definitely ate more than a half.  
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equivalent fraction to 
3

4
 

could have also been 

used, such as 
6

8
. 

3) B could have been 
replaced with 12 or 24 
because 4 and 6 are 
factors of them so 
equivalent fractions 
could be found. 18 was 
another denominator 
that B could have been. 



1) Russell is incorrect 

because 
3

4
 is equivalent to 

6

8
, which is greater then 

3

8
. 

2) 
4

11
=

20

55
         

4

5
=

44

55
 

        Tim ate most.  
      
    3)



1) 
1

4
,

3

8
,

1

2
,

3

4
 

 
2

5
,

1

2
,

3

5
,

7

10
,

2

2

 
1

3
,

5

12
,

1

2
,

4

6
,

3

4

 
1

4
,

1

2
,

2

3
,

5

6
,

7

8

 
1

4
,

2

5
,

1

2
,

6

10
,

3

4

 
1

3
,

4

9
,

1

2
,

6

10
,

3

4

 
1

4
,

2

5
,

1

2
,

2

3
,

5

6

 
2

7
,

5

7
,

2

4
,

11

14
,

3

2

1) 
2

12
𝑜𝑟

3

12
  

2)  


